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And these Tanaim are like those Tanaim — 9NRIN 917 95 ININ I

OVERVIEW

The X713 states that the dispute of the two nin>72 (whether the 1nm is w"pn Mo on
naw 2°9) is the same dispute that we find in another &¥n>12 (whether it is permitted
to be nawa abnna va. Our Moon explains the view of *ak (who does not
subscribe to s'%27 view that °Xin °175 °Xin °17) in light of the fact that there is a
0°X1n nPYonn whether one is permitted Naw3a 77102 727 or not.

mMooIN anticipates a difficulty:
= 9912 XY ININ V9T 2) DY 9N

Even though that the 2°8in argue explicitly regarding whether it is 77102 9215 1nm

nawa (and 2R was aware of it) -
= DoYa YN NDT NN NINNT N1V 2PUNT 199D »aN PINT OIPN YN

Nevertheless >»ax previously persisted that the fact that he cannot be “>v2
771na on Naw is considered a 71%» related stress —

Mmoo responds; the reason 2R did not establish the 71wn according to those a°Kin is -
= 9192 YONT 3ONNIYI 2)PN0NN0 MMPNY 1YY XNNT

For it was preferable for »aX to establish that mwn (of 7wyn 7wy X5 OX)
according to ®X»w, who forbids to be nawa 7%nna »owa.

moon shows how important it was to *aX to establish the ruling of PXmw:
= DoYa 8N NI NN NTI0 29N N NHIIAT NNND 923 YD)

And 2R also established that the dispute of the nins»a2 (whether the 1nmis 7Wd
w"pn on nAw 9°9), is dependent on whether we assume that not being able to be

Bowa is considered a mMXnT XTI or not. »ax preferred that interpretation of the argument of
the two min»13, rather than interpreting that they argue whether it is nawa 7%nna w1% "nm or
not. The reason for s"ax preference is -

! The X m3 previously on this Ty cited a mwn which stated that a jnm is w"pn WD until w"xm if qwyn Awy 89, The
Xm3 assumed that he is w"pn 7w on Naw 9, since he is 70 to do the 77°v3; proving that it is permitted to be 2°va
nawa 79nna (not like PRMWw who is nawa 77nna 2w2a% M0IR). 2R responded that it is Nawa A%n02 2127 1OK and the
reason he is w"pn W5 on Naw °% because he is stressed out since he cannot be 2°¥2. This answer of »axX is somewhat
questionable, since we are not certain whether (a) we can consider this a X77°0 (7"mn), and (b) whether this can be
considered a mn Hw X770 to the extent that it should exempt the 11 from w"p [see &M 7"7 'o1n]. It would have been
simpler if »aR just said that this 71wn follows the view of those 2°Xin who maintain n2aw3a 7102 7Ww21% N,
2 It is a mawn ono and the 71997 is (usually) like a mawn ono; the mwn would contradict the view of 2xmw.
3 See ‘Thinking it over’ # 1 & 2.
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In order to establish the ruling of X (that it is nawa 77102 9Ww2> 0X) as?
much as possible.

SUMMARY

"R preferred (whenever possible) to offer a dubious answer (of Mx%7 X770) which
nonetheless establishes the 0°Xin according to 2Xwaw (that nawa 75102 21w2% MOK),
rather than saying there are (other) 2°&in who disagree with 2Rw.

THINKING IT OVER

1. moon writes that »ak prefers to establish the various 2°Xin like PXww who
maintains Naw3 ;77102 91w2% MoR.’ Firstly, why does »ax follow the ruling of x1mw,
since we know that *70°82 215 Xnov3?° Secondly, previously’ the X3 had two
versions regarding the views of X1 27; why does R assume one of these
versions?®

2. There 1s the version of X¥77771 who maintain that it is 27 who is of the opinion
that naw2 7%nn2 7w1% Mor. Would that view also be contradicted from the miwn of
awyn vy X ax w"pn 1o nn?’

4 »ax prefers to establish as many mn>>721 n1wn according to the view of 2Xmw, therefore »ax explained (wherever
possible, as long as it does not state clearly in the Xn>92 that it is nawa 737002 %1w1a% 2N [as the X012 of 121 o1o7
N o°nom]) that all agree that it is nawa 72nn2 91w3% 1ok and the respective arguments are whether not being able
to be 2°v1 is considered a M¥n7 777V or not.
5 See footnote # 2.
¢ See (1"7v) in the R"wAn.
7%, on the top of the Tmy.
8 See "R X,
% See *"19 (and w"wM).
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